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Q.2: Show that the sequence 1-3 % -6‘7 + oo sdivergent,

Q3 Showthat ™ M -1
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QA4 Showthat the point "7:,'-%) I the centro of the circle clrcumscruibing the triangk
whoae vertices are (2,1),(6,2) and (3, 4) respectivaly,
Q6:  Find the combined equgfion of the palr of linos through the orlgin which are
parpandicular to the lines 2u .« Sxy + p=0, ']
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Q6 Wx=yfind ge

Q7. Calcutate log10(10.10)given that log, 0 = 0.4343,

Q8:  The curve y =x - 3x - 8x + k, where k is constant. The curve has a minimum point of
the x-axis . Find the value of k, Also find the coordinates of the maximum point of the
curve.
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@.10: Prove analytically a normal to a circle passes through the chintre of the circle.

Q11 Find the eguation of the ellipese having the origin as centre, are tocus at the point
(3,0) and the corresponding diveclrix x = 8,

Q12: B;tlow,ma";tgeowmnclllos e, and e, of the conjugate hyperbias satisfy the relation ,
0; +8; =ej8;
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Q.13: Laetf(x) (——2" T oxprass f{x)in partial fractions,

Q.14: The vertices of a triangle are the points Ai(1,2 1) (-3, 1,1) , Ci{1,-1,2). Forces of
magnitude 3 and Sactat a along AR BNJAC Find their resultant
Section-C

Q.15(a): Find the dertvative of f(x) = sec2x by first principle.
(b) Uulmmuonbypamomm:j: Inxdx=6in2-2.

.16(a): Al the mide plont of the segment bounded by («4.4) and (2, 2) B fs a pointat %of
the distance from (5,3)10 (-3, 2). Find the equation of AR .
Q.17{a) Derive thw wquution fo striaght line In the normal formx.. (<)
(b):  Evaluate f cotx, cosec x dx, 2
Q.18(0): My =1{x) = aax 1 bax+ ca-for allx show el %‘523 '@”{'0
7,

) Aenneissuchthet %=2x’-5- Givon malpulnt((!.,ﬂ)llesonmbgy%. Find
| theeguatino of the curve. i




